

A

$$p10. 5 (2) (-3.5) + (-4.3)$$

$$= -(3.5 + 4.3)$$

$$= -7.8$$

$$(4) (-\frac{1}{3}) + (-\frac{2}{3})$$

$$= -(\frac{1}{3} + \frac{2}{3})$$

$$= -\frac{3}{3}$$

$$= -1$$

$$(6) (-\frac{5}{6}) + (+\frac{2}{3})$$

$$= (-\frac{5}{6}) + (+\frac{4}{6})$$

$$= -(\frac{5}{6} - \frac{4}{6})$$

$$= -\frac{1}{6}$$

$$p11. 6 (2) (-4) + (+9) + (-2)$$

$$= (-4) + (-2) + (+9)$$

$$= (-6) + (+9)$$

$$= +(9-6)$$

$$= +3$$

$$(4) (-13) + (-7) + (+8)$$

$$= (-20) + (+8)$$

$$= -(20-8)$$

$$= -12$$

$$(6) (+21) + (-25) + (+15)$$

$$= (+21) + (+15) + (-25)$$

$$= (+36) + (-25)$$

$$= +(36-25)$$

$$= +11$$

$$7. (2) (-12) + (+21) + (-15) + (+12)$$

$$= (-12) + (-15) + (+21) + (+12)$$

$$= (-27) + (+33)$$

$$= +(33-27)$$

$$= +6$$

$$(4) (+69) + (-17) + (-26) + (-18)$$

$$= (+69) + (-61)$$

$$= +(69-61)$$

$$= +8$$

$$(6) (-152) + (+201) + (-103) + (+273)$$

$$= (-152) + (-103) + (+201) + (+273)$$

$$= (-255) + (+474)$$

$$= +(474-255)$$

$$= +219$$

$$8. (2) (+0.9) + (-2.5) + (+1.3) + (-0.8)$$

$$= (+0.9) + (+1.3) + (-2.5) + (-0.8)$$

$$= (+2.2) + (-3.3)$$

$$= -(3.3-2.2)$$

$$= -1.1$$

$$(4) (-\frac{3}{4}) + (+\frac{1}{3}) + (+\frac{1}{2}) + (-\frac{2}{3})$$

$$= (-\frac{3}{4}) + (-\frac{2}{3}) + (+\frac{1}{3}) + (+\frac{1}{2})$$

$$= (-\frac{9}{12}) + (-\frac{8}{12}) + (+\frac{4}{12}) + (+\frac{6}{12})$$

$$= (-\frac{17}{12}) + (+\frac{10}{12})$$

$$= -(\frac{17}{12} - \frac{10}{12})$$

$$= -\frac{7}{12}$$